Exercise 4.3

donderdag 14 se

(i) ' &W—% -Gy, (G, w):
W i{i['lee,'es) k"j'W[e‘})

Wt by S ey By 2 (fnaﬂ/scszw

052’951 ézaﬂ l= i< [y L,I,ls/'s/y/

WO g Tt \orfe) i W% <) Voo Yoy Gy7v oo (o, ool 34
%wa condf b Hevesght f 30k o ity Aprtrfily

2. Cé’(@y‘eE &) 2 ﬁ-}
3. W, C
Y, WW@W MW#WMW%«”%@‘% frat aituid),

el ot g, Aocigin iy [rredpes nadest, 5t Wity 8hopst 1. oo, (f o 0
wh gt tﬁm@% Creidet Ay by voieg Wersge vebioff o dbciicp, WWJ@AQM@% i,
mh Voofpy
\hiok Unliyy Y ot, Dshone ©Age"s dodigip verialfle By vie § - 34, %@QW%%
edﬂu;?% w,wm%t@w?% ot pecdpe woidet G d y L by hogvry

T 109% th copid oypgeitin Wl 'y sckisred, W tifon %%f?
oy oy botth, Goeady (if ] esje £
M[w[c) - Ze.;/éc W (ey)
s ch.v; eC hr[g%),’f.,/ - 3
T3 ejec wiog) xy

S32eijer We.;) x:j

< 3. 0PTWZ%M7;%%M
S 3 0P

WW%% .;!.Whl

() Uk poolitin (0, T iy itrgad A whow 440
M%ﬁwwﬂd%.%uf% "
(0, A7, (8,28, (24,34] che. Uk Th. tpluce 2k~ W ()
('Z‘ﬁ”’%‘ 3 ki 'W[e";/') oy - % T ok (G-I)A,M),
ln P Wor)y, Wdﬂﬁo ‘ltf'&y) %

'W'/[ey) = I‘Ez[e—/)]

Wit e, Ly Aveliety T Yight endpois of the idonntit
IAW“\{% the whight @%AW&ZZM%M

R, Uy tle 90ne Aoy . (1o pick A Gosef vt
%%ww Wmawm u 4t w’ujﬂ;o&mﬂmm;
U compctd solilin wiost hpve  rleh tighty mst (1+) OPT. 3, llyn wort,
th el O of th tlity, shoudy it vt €OFT. Yth o i . il
maaxwa,m,a&wa%mmwwwl%,%w

et of o 3ol nat vk A-11) . hon, ot vty chome 4 2ok U

-£6rr

AIVI:EDPT,MW'[&/M 4=

Mo, wdg ot s 0PT. Yy rvtigome Wy prgll,, we iaeo aitall
Coucd LB it o 0PT. oy e ot g OPT 2 M 0.6 =L sy
Medﬂn e cvn Wb b Lvediy (8,4 Loy, WCWM@"HBJ;A#%W)M

the weighi of each edw at buggto.s . m%w@ Witk | Binitoud 40P 7,

wlvind 1e [MMI%WmWM
FTAs- WEC (6, ¢) Ww
[ ([//ﬁ(,-[; O()
2. Lhlhe % OCv))
e SE () o( v
4.1l b; ¢ E Ut w’[e;/-): F_"_Z_Pi)-‘ 0 (Ig))
5. W 2l C £ E of Woipupweppy witk ' Wiy 5 Sy 10
) ’ 1 . (6 / my%m w,[e‘}) O[Z [IV/HE—D): O(Z 1 (/V/+J£)>>: O (2 £ 1y (/I/H’}EQ) = O(l’{ (/\/H /Ey
"*Mnsw(ecﬁ,
b. Yotwn C 01

me 0 (z% [/ww)

Moﬁ WW |—>WLA v+ [E]
Aot Cot dagt o ophpl sl of edgps, such thiyabe (Co) =0PT
o

Lot (' dogy the seloel ol a st idl Al
rvse aﬂﬁdﬁq,u %%ﬁ#w%u shyurihe: wilue((?) = (1+€)OPT

Bocone Cioptial frith v wecghty, webue W' (C) =10 (Cop) . ruove,

\uﬁ < Ww',)s Wﬂ
A J VA d
W, A= %TB.%/ we e
w [C /> = Zec}ec’ W @J)

ﬁzeaﬂﬁec’ A'W'[eij)

= A ie%' ce’ W,[e{f)

<A Ze.:/eco;ut w’[ec})

= A Zejecye (2 1)

- (Zecdc(—,(a,at W[Q%)) t A.ie%ecﬂi‘t I
< (é@coiécayi 'W[e%))ﬁﬁ A 'Vl

= Eegecos Wley) + £ )y)

u-ly
= OpT + -% V]
< 0PT + £ 0PT,

Whel s Yo Oppratily, Wy @ 1+ €.



